
SAP ABAP table VIBPOBJREL {Business Partner-Object Relationship}

VIBPOBJREL

MANDT [CLNT (3)]

OBJRELGUID [RAW (16)]

PARTNER [CHAR (10)]

ROLE [CHAR (6)]

SUBROLE [CHAR (4)]

APPL [CHAR (4)]

ADDRTYPE [CHAR (10)]

BUT000

CLIENT [CLNT (3)]

PARTNER [CHAR (10)]

 VIBPOBJREL-PARTNER = BUT000-PARTNER 
0..N

1

TB003

CLIENT [CLNT (3)]

ROLE [CHAR (6)]
 VIBPOBJREL-ROLE = TB003-ROLE 0..N

1
TB009

CLIENT [CLNT (3)]

ADR_KIND [CHAR (10)]

 VIBPOBJREL-ADDRTYPE = TB009-ADR_KIND 
0..N{0,1}

TIVBPSUBROLE

MANDT [CLNT (3)]

ROLE [CHAR (6)]

SUBROLE [CHAR (4)]

 VIBPOBJREL-SUBROLE = TIVBPSUBROLE-SUBROLE 

0..N

{0,1}

TPZ12

MANDT [CLNT (3)]

APPL [CHAR (4)]

 VIBPOBJREL-APPL = TPZ12-APPL 

0..N

1


